

$$\begin{array}{c}
\frac{\Sigma\{[A^\bullet, A^\circ], \Diamond A^\circ\}}{\Sigma\{[A^\bullet], \Diamond A\}} \quad (id) \quad (\Diamond^\circ) \quad \frac{\Sigma\{[B^\bullet, B^\circ], \Diamond B^\circ\}}{\Sigma\{[B^\bullet], \Diamond B^\circ\}} \quad (id) \quad (\Diamond^\circ) \\
\hline
\Sigma\{[(A \vee B)^\bullet], \Diamond A \vee \Diamond B^\circ\} \quad (\vee^\circ) \\
\hline
\Sigma\{\Diamond(A \vee B)^\bullet, \Diamond A \vee \Diamond B^\circ\} \quad (\Diamond^\bullet) \\
\hline
\Sigma\{\Diamond(A \vee B) \rightarrow \Diamond A \vee \Diamond B^\circ\} \quad (\rightarrow^\circ)
\end{array}$$